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Department Response 
 

Source: Occupational Safety, Health, and Wellness, (4th Ed.), IFSTA 
 

Question 5 (1 appeal) 
 
Of the following answers, which answer IS NOT considered a factor in metabolic syndrome? 

a. A high blood pressure 
b. A low HDL cholesterol level 
c. A high triglyceride level 
d. The heredity of the individual 

 

Answer – D (page 127) 
 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Answer is directly out of the book on page 127. The appeal is based on text from 
page 117; this page doesn’t mention “heredity” or “metabolic syndrome” much less link the 
two together.  
 
The department response is to sustain the key. 
 
  







 

Source: Pumping and Aerial Apparatus Driver/Operator Handbook (3rd Ed.) IFSTA 
 

Question 27 (2 appeals) 
 
Which of the following factors greatly influence a centrifugal pump's discharge pressure? 

a. the amount of water being discharged 
b. the speed at which the impeller is turning 
c. the pressure of water when it enters the pump from a pressurized source 
d. all of the above 

 
Answer – D (page 300) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: The book lists answers A, B, and C as “three main factors” that influence centrifugal 
pump discharge pressure. “Main factors” are things that “greatly influence”; the question is not 
asking for the greatest influence nor is one named in the text. 
 
The department response is to sustain the key. 
  







Source: Pumping and Aerial Apparatus Driver/Operator Handbook (3rd Ed.) IFSTA 
 
Question 33 (2 appeals) 

 
Which of the following is directly related to the reach of a fog stream? 

a. the speed at which the nozzle is opened 
b. the size of the supply intake 
c. the size of the hose being used 
d. the size of the water droplets 

 
Answer – D (Page 197) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning:  “…directly related to its width…” is possessive and refers to the width of the 
stream. Larger hose alone does not inherently increase volume or reach of a fog stream. More 
volume through a fog nozzle requires more pressure, a bigger nozzle, or both.  
 
The department response is to sustain the key. 
 
  







Source: Building Construction for the Fire Service (6th Ed.) Brannigan 

 
Question 36 (2 appeals) 
 
If we increase the depth of a beam four times, the load capacity is increased _______ times. 

a. four 
b. eight 
c. sixteen 
d. thirty-two 

 
Answer – C (page 28) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: The book states the load carrying capacity of a beam increases by the square of its 
depth. At the end of the same paragraph it states that (by) multiplying the depth by two, the 
carrying capacity is increased by the square of two—that is, by four. Therefore, if increased four 
times, the carrying capacity is increased by the square of four—that is, by sixteen. Also, figure 
2-20 illustrates this as well.  
 
The department response is to sustain the key. 
 
 
 
 
 
 
 
 
  





Source: Building Construction for the Fire Service (6th Ed.) Brannigan 
 

Question 48 (1 appeal) 
 
The reason that there is an inherent limit to the height of masonry buildings is: 

a. the cost of building construction materials becomes exponentially higher with taller 
buildings. 

b. the overall interior space becomes limited with each floor that is added to the building. 
c. due to the necessity for increasing the thickness of the wall as the building height 

increases. 
d. the building loses it’s aesthetic appeal due to the quantity of masonry materials. 

 
Answer – C (page 253)  
 

Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Directly from the book. No mention of construction costs associated with the 
Monadnock Building in Chicago. The appeal is making assumptions not stated in the book. 
 
The department response is to sustain the key. 
 
  





Source: Building Construction for the Fire Service (6th Ed.) Brannigan 

 
Question 49 (1 appeal) 
 
Plain concrete is strong in ________ but weak in __________. 

a. tensile strength; torsion 
b. vertical applications; horizontal applications 
c. compression; shear 
d. pre-tensioning; post tensioning 

 
Answer – C (page 326) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Direct quote from the book that is not contradicted. The book does not define 
horizontal applications as a weakness for plain concrete.  
 
The department response is to sustain the key. 
 
 
 
 
 
 
 
 
 
 
 
 
 
  





 

Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 51 (1 appeal) 
 
When sufficient personnel are not available to effect both rescue and extinguishment at the 
same time, 

a. rescue must be given precedence. 
b. extinguishment must be given precedence. 
c. both rescue and extinguishment must be treated equally. 
d. no success will be possible until sufficient manpower becomes available. 

 
Answer – A (page 7) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Directly from the book in bold letters as the 1st concept under The General 
Principles of Firefighting. The appeal does not point to any text that contradicts. 
 
The department response is to sustain the key. 
 
  







Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 52 (2 appeals) 
 
Friction loss is directly related to 

a. the diameter of the hose. 
b. the length of the hose. 
c. both a. and b. 
d. neither a. nor b. 
 
Answer – C (page 100) 

 
Department Response: SUSTAIN/ACCEPT; keyed answer (C) is incorrect, only B is correct. 
 
Reasoning: The appeals are correct that hose diameter is not “directly related” to friction loss 
since friction loss decreases when hose size increases. This, by definition, is an inverse 
relationship. Also, the text only states that they are related, not directly related. The text does 
state that there is a “direct relationship” between hose length and friction loss. If question did 
not contain the word “directly”, then answer C would be correct. 
 
The department response is to accept the appeal; the keyed answer (C) is incorrect, answer B 
is the only correct answer. 
 
 
 
 
 
 
  





Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 56 (1 appeal) 
 
"Stack effect" is the natural movement of air in a building. It is most noticeable in _________ 
buildings. 

a. older 
b. newer 
c. smaller 
d. taller 
 
Answer – D (page 461) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Question and answer are directly out of the book. The appeal is making 
assumptions not stated in the source material. The book does not make a connection between 
newer buildings and more noticeable stack effect. Higher efficiency does not mean great 
temperature difference, just less energy used to create the environment.  
 
The department response is to sustain the key. 
 
  





Source: Fire Officer’s Handbook of Tactics (5th Ed.) Norman 
 
Question 60 (1 appeal) 
 
Considering peaked residential roofs, generally, if the fire hasn't extended into the area directly 
under the roof 

a. then horizontal window ventilation will be sufficient. 
b. then the roof should be opened immediately. 
c. ventilation is not necessary. 
d. then the gable end of the roof should be opened. 
 
Answer – A (page 384) 
 

Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Question and answer are directly from the book.  Appeal makes assumptions that 
the fire is possibly an exterior fire.  Either way, Answer A is the best choice. 
 
The department response is to sustain the key. 
 
 
 
 
 
 
 
 
 
 
  











Source: Fire Inspector Principles and Practice (Rev. Enhanced 1st Ed.) IAFC 
 
Question 67 (3 appeals) 
 
Museums, Courtrooms, Restaurants, and Conference Rooms are all examples of 
______________. 

a. Business Occupancies 
b. Assembly Occupancies 
c. Mercantile Occupancies 
d. Educational Occupancies 

 
Answer – B (page 50) 

 
Department Response: SUSTAIN/ACCEPT multiple answers: A & B are correct. 
 
Reasoning: The question does not state whether the occupancy is greater than or less than 50 
which is a key factor in determining between a business occupancy and an assembly. 
 
The department response is to accept the appeal; multiple answers (A & B) are correct. 
 
  







Source: Fire Inspector Principles and Practice (Rev. Enhanced 1st Ed.) IAFC 
 
Question 73 (1 appeal) 
 
The natural exit access (path of travel) within a building is influenced by the ___________. 

a. age of the building 
b. occupancy of the building 
c. contents of the building 
d. both answers b. and c. are correct 
 
Answer – D (page 133) 

 
Department Response: SUSTAIN/ACCEPT 
 
Reasoning: Question is directly from the source material. D is the best answer. 
   
The department response is to sustain the key. 
 
 
 
 
 
 
 
 
 
 
 
  





Source: EMS Vehicle Operator Safety (1st Ed) NAEMT 
 
Question 82 (1 appeal) 
 
In addressing transport safety, the questions must not focus solely on vehicle dynamics but 
must consider also: 

a. human dynamics. 
b. civilian traffic patterns. 
c. age of roads. 
d. dispatch protocols. 

 
Answer – A (page 3) 

 
Department Response: SUSTAIN/ ACCEPT multiple answers: A & B are correct. 
 
Reasoning: While the question is a direct quote from the book, page 71 does contain text 
regarding traffic having an effect on safety. The sentence used was a poor choice to use as a 
test question. It is transitioning from vehicle dynamics to human behaviors and doesn’t 
encompass all subjects that are important to safety.  
 
The department response is to accept the appeal; multiple answers (A & B) are correct. 
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